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                                                         ANSWER SHEET                                                                                                                                                         

Question 1                                     Results Marks 

(a)   𝜔𝜔𝐸𝐸 = 7.0 × 10−5  rad s-1 05 

(b)  𝐼𝐼𝐸𝐸 = 6.0 × 1037 kg m2 02 

(c) 
     

 𝐿𝐿𝐸𝐸 = 4.2 × 1033 kg m2 s-1 

 

 

03 

      (d)(i) 
 

  𝐿𝐿𝑎𝑎𝑎𝑎𝑎𝑎 =  1.0 × 1026 kg m2 s-1 

 

05 

     (d)(ii) 
Underline the correct statement. 

𝐿𝐿𝑎𝑎𝑎𝑎𝑎𝑎  is parallel to 𝐿𝐿𝐸𝐸 

𝐿𝐿𝑎𝑎𝑎𝑎𝑎𝑎  is perpendicular to 𝐿𝐿𝐸𝐸 

 

 
 
 

02 

(d)(iii) 
 

    Δ𝜃𝜃 = 2.4 × 10−8 rad 
 

10 

(d)(iv)  Δ𝑙𝑙 = 0.12 m       03 
        (e)   Δ𝜏𝜏𝑟𝑟𝑟𝑟𝑟𝑟 = 3.6 × 10−5 s 

 

10 



 

 

                                                              ANSWER SHEET 

Question 2 Results Marks 

 

       ( a) 

 

 Pi  = 𝑃𝑃𝑎𝑎 + 4𝛾𝛾
𝑅𝑅0

  

 

02 

 

(b)(i)  

 

𝜌𝜌𝑖𝑖 𝑇𝑇𝑖𝑖
𝜌𝜌𝑎𝑎𝑇𝑇𝑎𝑎

  = 1 + 4𝛾𝛾
𝑅𝑅0𝑃𝑃𝑎𝑎

 

 

05 

 

       (b)(ii) 

 

𝜌𝜌𝑖𝑖 𝑇𝑇𝑖𝑖
𝜌𝜌𝑎𝑎𝑇𝑇𝑎𝑎

− 1= 𝟏𝟏.𝟎𝟎 × 10−4 

 

03 

 

(c) 

 

𝑇𝑇𝑖𝑖 =
𝑅𝑅0𝜌𝜌𝑎𝑎𝑇𝑇𝑎𝑎

𝑅𝑅0𝜌𝜌𝑎𝑎−3𝜌𝜌𝑠𝑠𝑡𝑡
�1 + 4𝛾𝛾

𝑅𝑅0𝑃𝑃𝑎𝑎
� 

 

10 

 

(d) 

 

u =
4𝑅𝑅0𝜌𝜌𝑠𝑠𝑡𝑡𝑡𝑡 +43 𝑅𝑅02 𝜌𝜌𝑎𝑎 𝑔𝑔� 4𝛾𝛾

𝑅𝑅0𝑃𝑃𝑎𝑎
�           

6𝜂𝜂
      

 

 

10 
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